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The book ‘Pygmalion in Classroom’ was written by
1. Rosenthal & Jacobson

2 Williamson & Darley

3. Macanby & Macanby

4 Freud & Ericson

‘Pygmalion in Classroom’ &3 (X065 SS000¢s
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This is the best child rearing style

1. Permissive parenting style

2. Uninvolved parenting style

3. Authoritative parenting style

4. Authoritarian parenting style
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According to Developmental stages, Middle stage is

1.
2.
3.
4.

20 to 40 years
40 to 60 years
0 to 20 years

60 to 80 years
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Correct statement regarding ‘Development’

1.
2.
3.
4.

Development takes place equally in all human beings
Development takes place only in schools
Development takes place in childhood only

Development is multidimensional
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According to Elizabeth Hurlock’s classification of human
developmental stages, a 1 year child belongs to this stage.

1.
2.
3.
4.

Pre natal stage
Neonatal child stage
Infancy

Early Childhood stage

A0aBS TTE By, IS ST S8 (S0
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This does not come under emotions

1.
2.
3.
4.

Fear
Singing
Anger

Jealous
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As per Kohlberg’s Theory “morality” is estimated on the basis
of physical punishment in this level

1. Pre-conventional morality
2. Conventional morality
3. Post conventional morality

4. Can’t specify a particular level
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Ramu is a 12 year old boy. His mental age is estimated
as 15 years.

What is his Intelligent Quotient (IQ)
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10.

Rani reads a poem ten times to learn it, after a month certain
errors are found in her recall. Then she read it only 5 times to
relearn.

Rani’s saving score is

ol 28 HErgR) SWEIEAE 10 Ty SH0B. 2.8 Fo
S0 YIS’ ) SHpen Fon. 0§ Sho Bvor
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@ONS 078 Boo¥) FEYHKeIS

1 50%
2 60%
3. 70%
4 80%

Which is not correct

1. Ivan Pavlov - Dog

2. B.F. Skinner - Rat

3. Thorndike - Cat

4. Insightful learning - Cat
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Sarala is good at Telugu. Because of this she faced difficulty
in learning English.

Here, the transfer learning is

1. Positive transfer

2. Negative transfer
3. Zero transfer

4. Bilateral transfer
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Dysphasia is a

1. Disability in Reading

2. Disability in Writing

3. Disability in Speech

4. Disability in doing mathematics
Dysphasia e538
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Dynamics of personality: Conscious, Sub-conscious,
Unconscious are found in

1. Psycho-Analytic Theory

2 Psycho-Social Development Theory
3. Hippocratis Theory

4 Kreschmer’s Theory
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Number of questions in Minnesota Multiphase Personality
inventory (MMPI) is

WwRYFer Y DE 18T g3j0ed (MMPI)
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1 400
2. 450
3. 500
4 550
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16.

17.

‘Thematic Apperception Test (TAT)’ was developed by

1 Herman Rorschach

2. Murry and Morgan

3. Bellock & Bellock

4 Galton
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1 Family of Language and Numeracy

2 Factions of Language and Nationality
3. Foundational Literacy and Numeracy
4

Foundation in Language and Numeracy

Organization that develops National curriculum framework for
school Education is

FETO QB 2SO PYHIETHES SAIPED T H0R

1 DIET

2 NCERT
3. NCTE

4 NUEPA
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19.

20.

Chairman of NEP - 2020
1. Dr. Kasturi Rangan
2. Dr. Rangarajan

3. Dr. DS Kothari

4. Dr. KS Hegde
NEP - 2020 3530
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In a Primary school there are 70 pupils. As per RTE — 2009,
number of teachers to be appointed is

25 (PEDE FET0S 70 5008 ITFREOTYD. TG,
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As per RTE — 2009, percentage of seats to be given to children
of weaker sections in private schools.

RTE - 2009 (35750 (3¢ FETE’ 20rS ST 290
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l. 10
2. 15
3. 20
4. 25
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22.

Which of the following is true as per RTE - 2009

1.
2.
3.

4.

RTE -

1.

2
3.
4

No admissions after August month
Working days in a Primary school is 140 in a year

Even though TC is not produced, admission should not
be denied.

For 20 pupils in a primary school, 3 teachers are to be
appointed.
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Year end examination for awarding pass certificate comes

under
1.

N

3.
4.

Formative Assessment
Summative Assessment
Action Research

Model Assessment

&ATS SHSASR) 0 §7W0 =8 VoIB)T0S DY
L8 Srergosso $o88 $2308.

1.

L

3@&85"95&§ w@§o§5o
QOITeT B8 Soe°§08S0
SoogEe S DO

PSS SHBOY)



23.

24.

25.

NCF — 2005 focuses on

1. Construction of knowledge
2. Rote memory

3. SUPW

4. School games

NCF - 2005 (parsore 833 6y 208
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Which of the following is an example of an input device
1. Printer

2. Monitor

3. Speaker

4. Scanner

808 TAS° 3_YeS S0
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What does HTML stand for
HTML e908&3

1 High Level Text Management Language

2 Hyper Text Markup Language

3. Home Tool Management Language

4 Hyperlinks and Textual Markup Language
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Which of the following application is not a part of
Microsoft office

808 IS° PASFF B $0220650 B ©PTAS

1.

2.
3.
4

Photoshop
Power point
Excel

Out look

Which of the following is an example of a social media

platform

1. Google

2. You tube

3. Face book

4. Wikipedia

800 FAE" FAS WEaSr TEFOH &
1. KrKoS

2. osorersd

3. RREAN

4. Isasr

Which programming language is widely used for Web

development
[§ .
808 >AS° D FUrwol e 3 eDIRS gy S
SIBATLD
1 Java
2. HTML / CSS
3. C++
4 Python
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Flagship programme of Andhra Pradesh Government for

developing infrastructure in schools

1.
2.
3.
4,
FETod. STOE $vHo 0PI &BBoTRES LoFHRT

Manabadi Nadu Nedu
Amma vodi
Jagananna Vidya Kanuka

Jagananna Gorumudda
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2
3.
4
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Jagananna Vidya Deevena is intended for

1.
2.
3.
4.

School infrastructure
Midday meal
Supply of Books, bag, Shoes etc..

Fee Reimbursement
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61.

62.

63.

64.

You have just been introduced to Mr. Madan.

He said, “How do you do?”

Choose the response to the above:

1.
2.
3.
4

If someone said, “Could you lend me a hundred rupees?” and

Glad to meet you.
Nice meeting you.
How do you do?

I’m fine.

you don’t want to; what would you say?

Choose your answer from the following.

1.

2.
3.
4

I am ok.
[ am sorry, I can’t
I am not rich.

I don’t lend you.

The purpose of the introduction in a personal letter is

1.

2
3.
4

to sign of the letter
to establish the sender’s authority
to briefly mention relevant information

to ask the recipient for a favour.

The final step before finalizing a notice is

1.

2
3.
4

distribution
proof reading
introduction

formatting



65.

66.

67.

68.

Choose the correctly punctuated sentence.

1.

2.
3.
4

He said, “My new job is very interesting.”
He said My new job is very interesting.
He said, “my new job is very interesting”.

He said, my new job is very interesting?

Scarcely had he mentioned (A) / her name (B) /

than her father (C) / left the room (D).

Choose the option that has a grammatical error.

1.

2.
3.
4

Choose the suffix that suits to get the noun form of the word

o o w »

‘active’

1
2.
3.
4

Choose the correct option that indicates the arrangement of the

following words in the alphabetical order.

A.

O 0w

el A

quantities
queue
qualities

questionnaire
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> 0O W O

C
A
C
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Choose the meaning of the idiom ‘beat about the bush’
1. serious discussion

2 move away

3. avoid talking directly

4

most important

The rocket blasted off at midnight.

Choose the meaning of the underlined part in the above
sentence.

1. backed up
2 took off

3. broke down
4

looked down

Choose the correctly spelt word.
1. immigrants

2 imigrants

3. immigrents
4

imigrents

Choose the option that can be used as a one word substitute for
“a hand written document.”

1 a documentary

2 biography

3. manuscript

4 an autobiography



73.

74.

75.

76.

There are 29,000 tablets on which more than 26,000 names of
fallen soldiers have been etched

Choose the synonym of the word ‘etched’.

1.

2.
3.
4

engraved
expunged
erased

obliterated

Mrs. Slater : Don’t look so daft.

Choose the antonym of the word ‘daft’.

1.

2
3.
4

whacky
sane
lunatic

stupid

He is the best man

Choose the correct option that fits the blank.

1.

2.
3.
4

on the earth
in the earth
on earth

in earth

Sindhu was dedicated her job.

Choose the preposition that fits the blank.

1.

2.
3.
4

by
for
with

to



77.

78.

79.

80.

Choose the sentence that contains the past perfect tense.

1.

2.
3.
4

When I reached the station, the train has left.
When I reach the station, the train will leave
When I reached the station, the train had left.

When I am reaching the station, the train is left.

Rani: Look at those dark clouds.
Ravi: I think it (rain)
Choose the option that fits the blank.

1.

2.
3.
4

is raining
is going to rain
is rained

will raining

Penny said to Jody, “Will you be back before dinner?”

Choose the reported speech of the sentence above.

1.

2.
3.
4

I

Penny told Jody when will he be back before dinner.
Penny asked Jody if he would be back before dinner.
Penny said if Jody will come back for dinner.

Jody asked Penny if she would be back before dinner

to go and sit on the back bench.

Choose the option that is apt to fill in the blank.

1.

2.
3.
4

have asked by
am asked by
is asked

was asked



81.

82.

&3.

&4.

The teacher, as well as the students, on vacation.

Choose the option that fits the blank.

1. are

2 have been
3. is

4 were

Choose the sentence with an adverbial clause.

1. He decided to go to his work place because he got into
debts.

2. He stopped his business.
I know the doctor who is famous in this town.

4. Do you think that he is right.

He was four months old.

In the above sentence, ‘old’ is
1. an emphatic pronoun

2 a noun

3. an adverb
4

an adjective

She did everything right during pregnancy.

In the sentence above, the word ‘right’ is

1. an adjective of quality
2 an adjective of shape
3. an adverb of reason

4 an adverb of manner



85.

86.

87.

88.

Jumping on his horse, the farmer rode to the market.

The underlined part of the above sentence can be labeled as
1. Present Participle
2 Perfect Participle
3. Past Participle
4

Continuous Participle

Linking words help us in many ways in writing. Firstly, they
help us in presenting our ideas in a meaningful way.

In the above sentence the linker, ‘firstly’ is used

1. to introduce the result of an action
2 to contradict from the first sentence
3. to organize points

4 to indicate similarity

I finished my project work several days the deadline.
Choose the preposition that fits the blank.

1. ahead of

2 in place of

3. by means of
4

in addition to

You may leave this place now.

This sentence indicates:

l. request

2 ability

3. taking permission
4 giving permission
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Read the following passage

Morally and culturally American television programmes have
affected our society. American programmes have many
positive sides but the negative aspects of them have affected
our cultural approach and customs.

The main concern raised about the influence of American
television programs is:

1. Their lack of entertainment value

2 Their positive impact on cultural values

3. Their negative effects on societal norms and customs
4 Their educational content

Read the following passage

Morally and culturally American television programmes have
affected our society. American programmes have many
positive sides but the negative aspects of them have affected
our cultural approach and customs.

Indians have been influenced by sides of American
T.V. programmes.

1. Both positive and negative
2 unchanged
3. positive
4

negative



91.

92.

93.

1 million = hundred thousands

1200008 = S0 Jew
1 1

2. 10

3. 100

4 1000

According to distributive property, for any integers a,b and c
DK J°§3%00 650)3.55 a, b 0B ¢ @9 S0 Zgrg‘éoaa§e>§s
1 a (b+c) = (axb)+c

2. (atb)c = (axc)+b

3. a(b+c) = (axb) + (axc)

4 a(bc) = (ab) ¢

Number of rational numbers between 20 and 24

1. 3

2. 1

3.0

4. Infinity

20, 240 KO GBTEIAD VopgL VOPS
1. 3

2. 1

3.0

4, 95050
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95.

Which of the following is a FALSE statement

1.

2.
3.
4

Every Natural number is a Whole number.
Every Whole number is an Integer.
Every Integer is a Rational number.

Every Rational number is an Irrational number.

5o (300TIS” 0SS (HIST0M KHYOS0S.
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State which of the following is TRUE
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1.
2.
3.

{}=9
0=9

{ 1=0
¢=1{0}
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1% of 1 hour

1 .
1. — minutes
6
2. E minutes
5
3. 6 minutes
4, 10 minutes
1 Ko&sS® 1%

! %K)leﬁee:o

2. %X)Zbﬁeen

3. 6 Ao
4. 10 Qdoxeew

Formula for Compound Interest
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98. A geometrical tool to measure the length of a given line
segment accurately without positioning error

1. Scale alone
2. Divider

3. Compass

4. Protractor

95526 BPPOLEO FEJO o (B &R0 BHoT
PO)BOT SR EVRTA0D wag;b@oﬁo HBES0

1L Fond sr@Hh
[ev]

2. D2TPRD
3. SEBP
4, 255263

99.  Sum of the exterior angles of a regular polygon
28 (550 2T Book). ey Sermo Jo¥o

1. 90

2. 180°
3. 360
4. 400°



100.

101.

A quadrilateral with only one pair of parallel sides
1. Trapezium

2. Rectangle

3. Parallelogram

4. Square

2.8 238 (@D ISrosY ghared Yo HEmo

1. D002 75@.“936)2)&0
2. QYIS0

o
3. D3P0 75@.“936)2)230
4. WEAOB(00

Maximum number of tangents that can be drawn to a given
circle

1. 0
2. 1
3. 2
4. Infinity

28 38708 Ackre K5O KBy vowy
1 0
2 1
3. 2
4 @500



102.

103.

The difference between the highest and lowest observations of
given data

1. Range

2. Mean

3. Median

4. Mode

SF:0¥08°D K8y, Y DoBoSL Moy B0
1. s"a@

2 e&oééﬁoc‘,is;ﬁoo

3. SoGgRS0

4 LPIVEE0

In finding mean for grouped data

X=a+ (%xhj ‘uy’ stands for
1 Class interval

2 Length of class

3. Deviation

4. Class mark

SEEYS $T0F0 @), VOEHEFHOK EHAHoerS”

X = a+(%xhj Uy DD 0TS

SBKB 90880

=

2. SEKB FEY
3. AWOI0
4. SN 3536.55 RISV



104.

105.

106.

107.

x*+(a+b)x+ab=
1. (ath) (b+a)x
2. (x+a) (x+b)
3. x” (at+b) ab
4. x(a+b) abx

The sum of 10 terms of the series 2, 7, 12........
383 2, 7, 12 ..... §°) 10 doro 300

1. 31
2 49
3. 105
4 245

In a quadratic equation ax’+bx+c = 0 has coincident roots then
the discriminant is

S8 DWEEE0 ax’+hxte = 0 K VITS RS Hroros> SO
085 Dsged

1. b*—4ac>0
2. b’—4ac=0
3. b*’—4ac<0
4.

Nb* —4dac =b

If the volume of a right circular cone of height 9cm is 48w cm’
then the radius of its base.

DY 9 0.0 Ko (EH ST FowY @), DIHBITE0
48TL 0.00.00. @and T Aragrgo

1. 4cm
2. 8cm
3. 4ncm
4.

8ncm



108.

109.

%d (h, +h,) sq. units is the formula for the area of
1. Square

2. Rectangle

3. Trapezium

4. Quaderilateral

Ld (b, +h,) 55559 05Dty oSO Y Gk, ProgSH

2
Q&0
1. WELBD0
2. By sso
oD
3. DD HBBYEO
4.

6@336@&0

The radius of a circular pipe is 10cm. What length of a tape is
required to wrap around the pipe once (n=3.14)

1. 314cm

2. 62.8cm
3. 31.4cm
4, 10cm

DTS Py DoY), TgIFLo 100.20. PR o6y 2530
HHEAS o PEY 8T BSVB0 ©PHHB,

1. 314 20.2.

62.8 0.2

31.4 0.2

ol

10 0.2



110. IfP(E)=0.05, What is the probability of ‘Not E’
If P(E) = 0.05 9003 * E 576" &oo¥), D0eT IS
1. 0.05
2. 0.095
3. 0.95
4. 9.5

111. (=1, -1) belongs to the quadrant
(—1, —1) Q FB0SE ToLHS

1 Qi
2. Q
3. Qs
4 Q

112.  When the centroid of a triangle divides the median from its
vertex in the ratio of

(Badzs KotheKBolEo SoeigheS Bpsh 350 o0& o

EOX})@

1 2:1
2 1:2
3. 2:3
4 3:2

113. tan2A = cot (A-18"), where 2A is an acute angle. The value of

A
tan2A = cot (A-18"), 2A &% §%0 ©o0sS, ‘A’ Jeos
1. 18
2 24
3. 30
4 36



114. Cosec 0 =

115.

1. Not defined

2. A2
2
3. —
NE)
4. 1
Cosec 0 =
1. EOCES{’)OiSzJCECSJ
2. A2
2
3. —
NE)
4. 1

The great mathematician, who stated that 1729 as
12° +1° =10° +9° which happened to be the taxi number of the
professor, who visited him at the Hospital.

1. Aryabhatta

2. Brahma Guptha

3. S. Ramanujan

4. Bhaskaracharya

EOBBS” S35 SrEerdd SN (Food erdy 0
0236 172950 127 +1° =10° + 9’1 IYS Ke3S JoGeD

L. 63652;5%%

2 (22370

3. OHB. oPSTOme
4

2,7"262,_0"’73"65



116.

117.

To which the following domain R.H. Dave, an Indian gave the
objectives in 1969.

1.
2.
3.
4.

Cognitive
Psychomotor
Affective
Knowledge

25508 BodS R.H. 33 19698° 55 Somdd TodS
e>§°5e>:53 BP0 OO,

1.

Sl

23°J°¢s &§

=y
SPSVE Seees &§
AN

PISTARDS]
=y

If a statement is true for a special case and is reasonably true
for some similar cases will be true for all such cases. This
method is

1.
2.
3.
4.

Inductive method
Deductive method
Project method
Laboratory method

2.5 93 V008" VSGR, werold HBER) oo’
$ro S5 SoEKIRD verold oY) VosTyeS” Ve

9908 ID.
1. €30S DR
P
2. QRS ?./Dg@
3. (OEE 958
e ()
4.

BEFHTO DES
@



118.

119.

The position of ‘Field trips’ in Edgar Dale’s cone of
experiences is

AEES wes FoHIS® & WS’ L0

1 2
2. 3
3. 4
4 5

‘Curriculum is the totality of student experiences that occur in
the educational process’. This statement is given by

1. Albert

2. Cunningham
3. Samuel
4. Ramanujan

Vg HEDIRE FEFe OIS FEHOY) Fod AT
(PETVE @PE0E” & DD)S I

1. eﬁé_zag

2. EQPORIE®
3. %”350?55
4. OoSESOBS



120. The quality of a test which gives constant, stable results
1 Validity
2 Objectivity
3. Subjectivity
4 Reliability
QBOIT, QOEEN HOFIXY) ISH ©Fe0
L RSPSreads
2 ©§°§e§ &§e§
3. QAT FA30 S
4. KIS



121. The correct relation among the following

1. Speed = Distance X Time
7. Speed = Dis.tance
Time
Ti
3. Speed = &
Distance
4. Time = Distance X Speed

808 TBS° ¥BGS K000

1. $5& = BIE0XT 0
[ Sle!

2. sa =220
S0t

3. 58 =2
&80

4, 5200 = SETPEoXSSE



122. The weight of a 10kg object on the moon is

123.

1.
2.
3.
4.

10 kg
16.33 kg
16.33N
10N

SO 10 8.(7. S B, &350

1.

2
3.
4

108.(7.
16.333.7r.

16.33N
10N

The incorrect statement among the following

1.
2.

3.
4.

Sound cannot travel in vacuum.

The number of oscillations per second is called
frequency.

For human ears the audible range is 20 Hz to 20000 Hz.

Unwanted or unpleasant sound is termed as music.

808 e38° ¥85°08

1.
2.
3.

B HrS50 K0T (HATEIOED.
2.8 0EHS° T Sosee D0PGT ;VIYBG0 WL,

SSHD @;55 38 20 Hz Svoé 20000Hz o
SBB &0e008.

OITHEFN Bor esfessvon B Givess vofiso
0L



124. The formula to calculate the refractive index of prism
2838 S35 KHEas0s B oWEDH W0

Sin(A)
2
Loon=— 0
Sin( )
2

2. o Sin(4+D)
Sin(A)

Sin( A+ D)
2 )
Sin(A)

2

4 g Sn(4)
Sin(A+ D)

3. n=

125. This converts electrical energy into mechanical energy

l. Motor

2. Battery

3. Generator

4. Switch

5§ ¥ 3ol @ e S
L Soerd

2. a7°§é38

3. 235068

4. %o



126. This is NOT a planet of the Sun

1. Sirius

2. Mercury
3. Saturn
4. Earth

808 T3S° XrEgD Book), 0 A8

1. 283D
2. 22063080
3. EN)

4. AV

127. The most abundant metal in the earth’s crust is

1. Silver

2 Aluminum

3. Zinc

4. [ron

3 $0008° 68 3B 0o Siro
1. degs

2. eﬁw5§1b§)oﬁoo

3. 20§

4. Q030



128.

129.

The element with electronic configuration 2, 8 is in this group
of the modern periodic table

1.
2.
3.
4.

Group 8
Group 2
Group 18
Group 10

OO TG0 2, 8 1 Ko 5700, SIS ©38S HQES”
55 (55S° &oenod.

1.

Ll

05 8
S 2
S 18

A change of state directly from solid to gas without
changing into liquid state is called

1.

2.
3.
4.

evaporation
deposition
sublimation

condensation

(SIS’ SPED0T IR 08 I TA0PBES
;Srcia?@g JU° OLTD.

1.

> »N

2,?5})25;5:50
K):si‘:aaao
c%éc})ééo
JFo|B58e30



130. Coal cannot be prepared in the laboratory because

1. it is a very slow process.

2. it requires very low pressure.

3. it requires very low temperature.
4. it is a great source of pollution.

I P TS SO SA0E0 TS0 . JoHES
1. 30 Tror IDYB 28R (D3,

BAZ T ) 2EIO BSHTO,

BI3 e we) GRS eSvo.

> »N

38 SPargI8 (RIS $°5E0 @PBOR.

131. The percentage of Nitrogen and Oxygen together present in
the air

Frsemomr mdS® JES =S $HOA eﬁé‘\)zsse) ésio&& 50
1 1 %

2 10 %
3. 80 %
4 99 %

132. A solution reacts with crushed egg shells to give a gas that
turns lime water milky. The solution contains

28 (OPSE0 §°6 1) DOHS® 8§ 28 Ao BdS
TP DPHIBE FOIB SO, & (TS0 8AJ

5O &0ew0od.
1. NaCl
2. HCI

3. LiCl

4. KClI



133.

Select the correct match among the following

Group A
i) Annelida
i1) Nematoda
iii) Aves
iv) Arthropoda

a)
b)
c)
d)

Group B
Renette cells
Green glands
Nephridia
Kidneys

808 TBE° DB w8 VoHLESD

Do A
1) IO

i) doeSe
iii) HPpen

iv) w@ﬁsw

1. i-c, ii-a, iii-d, iv-b
2. i-a, 1i-c, iii-d, iv-b
3. i-c, ii-a, iii-b, iv-d
4.

i-b, ii-c, iii-d, iv-a

P00 B
B3I Sesen
0 (Kogoen
Jp&as

Sooe|BD0TEe



134. Plant that has flowers which cannot perform self-pollination

1. Mustard
2. Rose

3. Papaya
4. Petunia

(DO VOB 0 BIIBI YA Yo SR 608 0¥,

1. 37D

2. Hord

3. &0

4 ?owagi)o‘ir

135. The phase of mitosis in which centromeres split, separating the

chromatids

l. Prophase
2. Metaphase
3. Anaphase

4. Telophase
BDHAEIS” DO W0E DONFow (§x5red&en

35 @dﬁog ot
L (S5
2. ;Sodaggc%
3. L[OIEE
4,

@095565%’



136. The joint present in the elbow

1.
2.
3.
4,
DA
1.

2
3.
4

Ball and socket joint
Pivotal joint
Hinge joint

Fixed joint

S* o fen

208AT) Soo
ToKSY &en
Socses230¢5 &ex
5500 e



137. Assertion (A):

138.

Reason (R):

Choose the correct answer
1.

2.
3,
4
505 (A):

5530 (R):

We feel pain in muscles after undergoing

strenuous exercise.

Ethanol accumulates in the muscles due to

anaerobic respiration during exercise.

A correct; R incorrect.

A incorrect; R correct

A and R both correct; R is the correct explanation for A.

A and R both correct; R is not the correct explanation

for A.

BSHT TG00 BOS S HSH FoEo®
S°RY) I2908.
TFFOITH0 TOWIPED @050 FTHOEH S

5050708’ 3ETS BHEOA.

VDS VST H80806.

!—.\

2
3.
4

AXDI0; R¥DPSO o0

ASDSE 5°6;R $BIO.

A S58c50RBo&® 3B ; R I8 A % 8BS IS5

AS>8050R Bo&s IBSI;R 938 A H $5BS ISTes 5°6%.

Mismatch among the following

1.
2.
3.
4.

Adrenalin -
Insulin —
Estrogen —

Testosterone —

goiter
diabetes
breast development

facial hair

808 TS DB wBHSBEIO

1.
2.
3.

O3S0 -
320 -
é-a@izsg -
BYRoS -

moners
5585530570
NS DB

QPO Jo(gnEen



139. Long, cylindrical, unbranched and multinucleated muscle cells

140.

are present
1.

in heart

in the bronchi of the lungs
DESS, STITY, PO, IVTOEE oES Seren

DV BO eﬁéﬁsbﬂ

2. attached to bones
3. in uterus

4.

Y& 0.

L &)Sehos’

2.

3. Kop¥cnos’

4.

E&sD0RL FTHOT TS

The correct representation of food chain among the following

1.
2.
3.
4.

1.
2.
3.

Grass —

Grass —

Grass <«

Grass —

Ké
[ov
s

X
86 Qb Hbw

%

T

Goat — Tiger

Goat <« Tiger

Goat <« Tiger

Goat — Tiger
808 IS° es5358 e WorRoSEdE ¥BS HES

E
E
E
E

Q



141.

142.

Plant ‘X’ developed branches near the base of the stem. Its
stem is hard but not very thick. Based on these details, plant
‘X,is a

1 Tree

2. Shrub

3. Herb

4. Creeper

XS 208, 8 TS0 e0 S0 WIS DEIHSO.
T S°0E0 KT &0e008 5% Q) S0BON® &O%D.
Bs DIPTB0 ersor X &8 Iy w8

1. BN

2. KJQ)&SﬁJJ
3. ¢S

4. S I0Y)

This trait is not desirable in the cross-breeding programmes
between Aseel and Leghorn breeds

1. number and quality of chicks
2. tall broiler parent for commercial chick production
3. tolerance to high temperature

4. reduction in the size of the egg-laying bird

@08 20A0 BRY) wree iy HEESS SOjEsres’
38003 9530 528

L 53 9098 Teados Sabgen

2. Jredeg dSon §°Gg0 GE)B 550 FEZS
eroneb &8

3. of% &S Seysiso
4. Ko E DR DO5Te0S8° SAOD
™ e N



143.

144.

This is not an endemic species of Pachmarhi Biosphere reserve

1.
2.
3.
4.

Bison

Indian giant squirrel
Tiger

Flying squirrel

2O, Barstes 8y Boo%). J0EWDE & 52D

1.

2
3.
4

& )
EARTLIAEX) DE &S

DO

AT &S

The approximate length of large intestine in an adult human

being
1.
2.
3.
4.

1.5 metres
7.5 metres
9 metres

4 metres

SEPeS SPSPOS” DY (D P& WITOM

1.

Lo

1.5 et
7.5 Qe
9 ety
4 e



145.  “Acquisition of knowledge” is
1. Objective
2. Aim
3. Specification
4. Value
PR VINFPOTEO” &Y

1. o550

2. e:cé g0

3. H)psve
4. RISV

9

146. This is noted in ‘Stock Register for Consumable articles”.

1. Thermometres
2. Iron article

3. Prisms

4. Litmus papers

“S00% S29e L§ 883567S” HID I VY.
1 GSU"&E)J@D&C%
0B ST

DEIT°eN
o

WD

O &5 SR



147.

148.

Limitation of Scientific method

1.

B w

N

Formation of scientific attitude
Investigation of facts
It takes more time to complete the syllabus

Eradication of superstitions

PIQO HEHSD HOWE

PIQAD FPd DYEer0
“6@53?.6,83 BOREO

20D PG DANEAS D)5 VO HEEO

SESHYTOR TGOS0

“Teaching is an intimate contact between a more matured
person and a less mature one.” is quoted by

1.
2.
3.
4.

H.C. Morrison
Philip W. Jackson
Sarvepalli Radhakrishnan

Jerome Bruner

ST OO S HOBB ToBY 538, S S O3S
DoBS I88 ey R DUS S5 @ D).

1.

W

H.C37858

205 dary #E)R
BONDQ IR
EINENNG



149.

150.

Percentage of learning from reading visual symbols, verbal
symbols according to Edger Dale’s cone of experience

256 TS wde JopY P50 SY¥§ DIFe, O
DITHOR/ SESEO SO SR ef§dS S0

1 70%
2 50%
3. 30%
4 10 %

The English word ‘curriculum’ was derived from this Latin
word

1. curriculam
2. currier

3. curriria

4, curricule

EOHGOND R SORIE0 Bs TS D0 o0& SVYod.
1. §8§J§QJS§JO

2. 586

3. 58803

4. §a§35é



